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1

 
P…h]‰ı 

{…⁄h……»EÚ : 60 
 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… : 
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

  Candidate must write first his / her Roll No. on the question 
paper compulsorily. 

 2. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… 
Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 

 If there is any error / difference / contradiction in Hindi & 
English versions of the question paper, the question of Hindi 
version should be treated valid. 

 3. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩÈ˛* |…∂x… GÚ®……ΔEÚ 23 B¥…Δ 24 ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩĘ̀* 
All the questions are compulsory. Question Nos. 23 and 24 have 
internal choices. 

 4. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â* 
  Write the answer to each question in the given answer-book only. 
 5.  V…∫… |…∂x… E‰Ú BEÚ ∫…‰ + v…EÚ ∫…®……x… +ΔEÚ¥……±…‰ ¶……M… ΩÈ˛, =x… ∫…¶…“ ¶……M……Â EÚ… Ω˛±… BEÚ 

∫……l… ∫…i…i…¬  ±…J…Â* 
  For questions having more than one part carrying similar marks, 

the answers of those parts are to be written together in 
continuity. 
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6. |…∂x… GÚ®……ΔEÚ 1 E‰Ú S……Æ˙ ¶……M… ( i, ii, iii i…l…… iv) ΩÈ˛* |…i™…‰EÚ ¶……M… E‰Ú =k…Æ˙ E‰Ú S……Æ˙ 

 ¥…EÚ±{… (+, §…, ∫… B¥…Δ n˘ ) ΩÈ˛* ∫…Ω˛“  ¥…EÚ±{… EÚ… =k…Æ˙…I…Æ˙ =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â 

 x…®x……x…÷∫……Æ˙ i…… ±…EÚ… §…x……EÚÆ˙  ±…J…Â : 

 There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 

has four alternatives A, B, C and D. Write the letter of the correct 

alternative in the answer-book at a place by making a table as 

mentioned below : 

 |…∂x… GÚ®……ΔEÚ 

Question No. 

∫…Ω˛“ =k…Æ˙ EÚ… GÚ®……I…Æ˙ 

Correct letter of 
the Answer 

 

 1. (i)    

 1. (ii)   

 1. (iii)   

 1. (iv)   

 
1. (i) BEÚ ¥™……{……Æ˙“ +{…⁄h…« ±…‰J…… Æ˙J…i…… ΩĘ̈* ¥…π…« E‰Ú n˘…ËÆ˙…x… =v……Æ˙  ¥…GÚ™… 25,000 Ø˚{…™…‰ i…l…… 

x…EÚn˘  ¥…GÚ™… 13,000 Ø˚{…™…‰ l……* n‰˘x…n˘…Æ˙…Â‰ EÚ… |……Æ˙Œ®¶…EÚ ∂…‰π… 15,000 Ø˚{…™…‰ i…l…… 

+Œxi…®… ∂…‰π… 14,000 Ø˚{…™…‰ l……* ¥…π…« ®…Â n‰˘x…n˘…Æ˙…Â ∫…‰ |……{i… Æ˙… ∂… Ω˛…‰M…“ 

  (+) Ø˚0 26,000 (§…) Ø˚0 39,000 

  (∫…) Ø˚0 40,000 (n˘) Ø˚0 53,000. 

 A trader keeps incomplete records. During the year Credit sales 
were Rs. 25,000 and Cash sales Rs. 13,000. Opening balance of 
Debtors was Rs. 15,000 and Closing balance is Rs. 14,000. The 
amount received during the year from Debtors will be  

  (A) Rs. 26,000 (B) Rs. 39,000 

  (C) Rs. 40,000 (D) Rs. 53,000. 1
2   
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(ii) BEÚ ¥™……{……Æ˙“ EÚ“ |……Æ˙Œ®¶…EÚ {…⁄ƒV…“ 1,00,000 Ø˚{…™…‰, +…Ω˛Æ˙h… 40,000 Ø˚{…™…‰, ∂…÷r˘ 

Ω˛… x… 60,000 Ø˚{…™…‰ B¥…Δ +Œxi…®… {…⁄ƒV…“ 1,10,000 Ø˚{…™…‰ Ω˛…‰, i……‰ ¥™……{……Æ˙“ EÚ“ 

+ i… Æ˙HÚ {…⁄ƒƒV…“ Ω˛…‰M…“  

  (+) Ø˚0 10,000 (§…) Ø˚0 70,000 

  (∫…) Ø˚0 90,000 (n˘) Ø˚0 1,10,000. 

 The opening capital of a trader is Rs. 1,00,000, Drawings       
Rs. 40,000, Net loss Rs. 60,000 and Closing capital                
Rs. 1,10,000. Then the trader’s additional capital will be  

  (A) Rs. 10,000 (B) Rs. 70,000 

  (C) Rs. 90,000 (D) Rs. 1,10,000. 1
2   

(iii) +Δ∂…  x…M…«®…x… {…Æ˙ |……{i… |…“ ®…™…®… Æ˙… ∂… EÚ… ={…™……‰M… x…Ω˛”  EÚ™…… V…… ∫…EÚi…… ΩË˛  

  (+) {…⁄h…« |…n˘k… §……‰x…∫… +Δ∂… V……Æ˙“ EÚÆ˙x…‰ E‰Ú  ±…B 

  (§…) +Δ∂……Â EÚ“ ¥……{…∫…“ J…Æ˙“n˘ E‰Ú  ±…B 

  (∫…) + v…®……x… +Δ∂……Â EÚ… ∂……‰v…x… EÚÆ˙x…‰ E‰Ú  ±…B 

  (n˘) |……Æ˙Œ®¶…EÚ ¥™…™……Â‰ EÚ…‰ +{… ±…ŒJ…i… EÚÆ˙x…‰ E‰Ú  ±…B* 

 Premium received on issue of share cannot be utilized for 
  (A) issuing fully paid up bonus shares  
  (B) buy back of shares 
  (C) redemption of preference shares 

  (D) writing off preliminary expenses. 1
2   

(iv) BEÚ EÚ®{…x…“  V…∫…EÚ“ + v…EfiÚi… {…⁄ƒV…“ 10,000 +Δ∂……Â ®…Â  ¥…¶…… V…i… ΩË˛, V…x…i…… EÚ…‰ 

8,000 +Δ∂……Â E‰Ú §…Δ]ıx… EÚ… |…∫i……¥…  EÚ™……* 7,400 +Δ∂… E‰Ú  ±…™…‰ + ¶…n˘…x… |……{i… Ω÷˛B* 

™…Ω˛ + ¶…n˘…x… ΩĘ̈ 

  (+) x™…⁄x…i…®… + ¶…n˘…x… (§…) x™…⁄x… + ¶…n˘…x… 

  (∫…) {…⁄h…« + ¶…n˘…x… (n˘) + v… + ¶…n˘…x…* 
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A company whose authorised capital is divided in             
10,000 shares, offer to the public to allot 8,000 shares, 
subscriptions were received for 7,400 shares. The subscription 
is 

  (A) minimum subscription  

  (B) undersubscription 

  (C) full subscription 

  (D) oversubscription.   1
2   

2.  ¥…GÚ™… {…Æ˙ ±……¶… EÚ“ n˘Æ˙ 20% ΩË˛* BEÚ ¥…∫i…÷ EÚ“ E÷Ú±… ±……M…i… 1,20,000 Ø˚{…™…‰ ΩË˛, i……‰ <∫…EÚ… 

 ¥…GÚ™… ®…⁄±™… Y……i… EÚ“ V…B*  

 The rate of profit on the sales is 20%. The total cost of an article is   
Rs. 1,20,000. Find out its selling price.  1 

3. S……±…⁄ ¥…π…« ®…Â |……{i… S…xn˘… 4,000 Ø˚{…™…‰, M…i… ¥…π…« EÚ… §…EÚ…™…… S…xn˘… 1,000 Ø˚{…™…‰, S……±…⁄ ¥…π…« 

EÚ… §…EÚ…™…… S…xn˘… 500 Ø˚{…™…‰* +…™…-¥™…™… J……i…‰ ®…Â S…xn‰˘ EÚ“ Æ˙… ∂…  ±… J…B*  

 Subscription received in current year Rs. 4,000, outstanding 

subscription of last year Rs. 1,000, outstanding subscription of 

current year Rs. 500. Write the amount of subscription in Income and 

Expenditure Account. 1 

4. {…⁄¥……« v…EÚ…Æ˙ +Δ∂……Â EÚ“ n˘…‰ ®…÷J™…  ¥…∂…‰π…i……+…Â EÚ… =±±…‰J… EÚ“ V…B*  

 State two important features of Preference shares.  1 

5. BEÚ ¥…∫i…÷ EÚ“ 1,000 <EÚ…<™……Â EÚ“ =i{……n˘x… ±……M…i… 40,000 Ø˚{…™…‰ ΩĘ̈* <x…®…Â ∫…‰         

800 <EÚ…<™……Â‰ EÚ…‰ 40,000 Ø˚{…™…‰ ®…Â §…‰S… n˘“*  ¥…GÚ™… ¥™…™… 2,000 Ø˚{…™…‰ Ω÷˛B* §…‰S…‰ M…™…‰ ®……±… 

EÚ“ =i{……n˘x… ±……M…i… Y……i… EÚ“ V…B*  

 The production cost of 1,000 units of an article is Rs. 40,000. Out of 

these 800 units were sold at Rs. 40,000. The selling expenses were  

Rs. 2,000. Find out the Cost of Production of the goods sold. 1 
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6. G‰Ú b˜]ı EÚ…b«˜ EËÚ∫…‰ EÚ…™…« EÚÆ˙i…… ΩË˛ ?  

 How does credit card work ? 1 

7. EÚ®{™…⁄]ıÆ˙ ±…‰J……ΔEÚx… E‰Ú +xi…M…«i… ‘LAN’ ∂…§n˘ EÚ…‰ ∫{…π]ı EÚ“ V…B* 

 Clarify the word ‘LAN’ under Computer Accounting. 1  

8. BEÚ ¥™……{……Æ˙“ +{…x…‰ ¥™…¥…Ω˛…Æ˙…Â E‰Ú  ±…B +{…⁄h…« ±…‰J…‰ Æ˙J…i…… ΩĘ̈*  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ =∫…E‰Ú 

E÷Ú±… GÚ™… Æ˙… ∂… EÚ“ M…h…x…… EÚ“ V…™…‰ : 

 |……Æ˙Œ®¶…EÚ ∫]ı…ÏEÚ 40,000 Ø˚{…™…‰, E÷Ú±…  ¥…GÚ™… (=v……Æ˙  ¥…GÚ™… 20,000 Ø˚{…™…‰ ∫… ®®… ±…i…) 

1,60,000 Ø˚{…™…‰, ®…V…n⁄˘Æ˙“ ¥… ¥…‰i…x… 10,000 Ø˚{…™…‰, EÚ®…“∂…x… |……{i… 3,000 Ø˚{…™…‰, +Œxi…®… 

∫]ı…ÏEÚ 50,000 Ø˚{…™…‰* ∫…EÚ±… ±……¶…  §…GÚ“ EÚ… 
4
1  ΩË˛*  

 A trader keeps incomplete records for his transactions. Calculate his 

total purchase amount from the following information : 

 Opening stock Rs. 40,000, Total sales (including credit sales             

Rs. 20,000) Rs. 1,60,000, Wages and Salary Rs. 10,000, Commission 

received Rs. 3,000, Closing stock Rs. 50,000. The Gross profit is 
4
1  of 

sales.  2 

9. V…™… C±…§… EÚ… +…™…-¥™…™… J……i…… 1,500 Ø˚{…™…‰ EÚ… P……]ı… n˘∂……«i…… ΩË˛* <∫… J……i…‰ ®…Â +n˘k… ¥…‰i…x… 

E‰Ú 500 Ø˚{…™…‰, ={……ÃV…i… S…xn˘… 5,000 Ø˚{…™…‰ +…ËÆ˙ {…⁄¥…«n˘k…  EÚÆ˙…™…… E‰Ú 1,000 Ø˚{…™…‰ EÚ…‰ 

∫…®……™……‰V…x… x…Ω˛”  EÚ™…… M…™……* ∫…®……™……‰V…x… E‰Ú {…∂S……i…¬ <∫… J……i…‰ EÚ… ∫…Ω˛“ ∂…‰π… Y……i… EÚ“ V…B*  

 The Income and Expenditure A/c of Jai Club shows deficit of            

Rs. 1,500. The adjustment for outstanding salary Rs. 500, accrued 

subscription Rs. 5,000 and prepaid rent Rs. 1,000 were not adjusted 

in this account. Find out the correct balance of this account after the 

adjustments. 2   
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10.  x…®x… ®…n˘…Â ∫…‰ 31  n˘∫…®§…Æ˙, 2010 EÚ…‰ ∫…®……{i… ¥…π…« EÚ… |……Œ{i… B¥…Δ ¶…÷M…i……x… J……i…… §…x……<B : 

 Æ˙…‰EÚc˜ ∂…‰π… (1.1.2010) 5,000 Ø˚{…™…‰, |……{i… S…xn˘… 20,000 Ø˚{…™…‰ (3,000 Ø˚{…™…‰ M…i… ¥…π…« 

EÚ… ∫…Œ®®… ±…i…), |……{i… +…V…“¥…x… ∫…n˘∫™…i…… ∂…÷±EÚ 10,000 Ø˚{…™…‰, ∫]‰ı∂…x…Æ˙“ EÚ… GÚ™… x…EÚn˘   

5,000 Ø˚{…™…‰, =v……Æ˙ 8,000 Ø˚{…™…‰, ∫]‰ı∂…x…Æ˙“ EÚ… ∫]ı…ÏEÚ (31.12.2010) 1,000 Ø˚{…™…‰, 

¥…‰i…x…  n˘™…… 12,000 Ø˚{…™…‰, §…EÚ…™…… S…xn˘… 1,000 Ø˚{…™…‰, °Úx…‘S…Æ˙ {…Æ˙ ø…∫… 500 Ø˚{…™…‰, 

°Úx…‘S…Æ˙ J…Æ˙“n˘… 8,000 Ø˚{…™…‰*  

 From the following items, prepare Receipts and Payments Account for 
the year ending 31st December, 2010 : 

 Cash Balance (1.1.2010) Rs. 5,000, Received subscription                    
Rs. 20,000 (including Rs. 3,000 for last year), Received Life 
membership fees  Rs. 10,000, Stationery purchased in cash             
Rs. 5,000, in credit Rs. 8,000, Stock of Stationery (31.12.2010)         
Rs. 1,000, Salary paid Rs. 12,000, Outstanding subscriptions          
Rs. 1,000, Depreciation on Furniture Rs. 500, Furniture purchased 
Rs. 8,000. 2 

11. ∫…Δn˘“{… C±…§… EÚ“  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ ¥…π…« 2009-2010 E‰Ú  ±…B S…xn‰˘ ∫…‰ +…™…  n˘J……i…‰ 

Ω÷˛B  ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B : 

 S……±…⁄ ¥…π…« ®…Â |……{i… S…xn˘… 50,000 Ø˚{…™…‰, M…i… ¥…π…« E‰Ú +xi… ®…Â ={……ÃV…i… S…xn˘… 4,000 Ø˚{…™…‰, 

S……±…⁄ ¥…π…« E‰Ú +xi… ®…Â ={……ÃV…i… S…xn˘… 5,000 Ø˚{…™…‰, M…i… ¥…π…« ®…Â S……±…⁄ ¥…π…« E‰Ú  ±…B |……{i… S…xn˘… 

3,000 Ø˚{…™…‰* S……±…⁄ ¥…π…« ®…Â +M…±…‰ ¥…π…« EÚ… |……{i… S…xn˘… 2,000 Ø˚{…™…‰*  

 From the following information of Sandeep Club, prepare statement 
showing income from subscription for the year 2009-2010 : 

 Subscription received during the current year Rs. 50,000, 
Subscription accrued at the end of the last year Rs. 4,000. 
Subscription accrued at the end of the current year Rs. 5,000. 
Subscription received in last year for the current year  Rs. 3,000. 
Subscription received in current year for the next year  Rs. 2,000.  

   2  
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12. |……Œ{i…-¶…÷M…i……x… J……i…‰ B¥…Δ +…™…-¥™…™… J……i…‰ ®…Â  x…®x… ±…‰x…n‰˘x……Â EÚ… ±…‰J……ΔEÚx… |…¶……¥… EÚ“ o˘˛Œπ]ı ∫…‰ 

+xi…Æ˙ ∫{…π]ı EÚ“ V…B : 

 (i)  |……Æ˙Œ®¶…EÚ Æ˙…‰EÚc˜ ∂…‰π…, (ii) +Œxi…®… Æ˙…‰EÚc˜ ∂…‰π… , (iii)  ¥… ∂…π]ı n˘…x… |……{i…  EÚ™…… ,        

(iv) ∫]‰ı∂…x…Æ˙“ E‰Ú |……Æ˙Œ®¶…EÚ ±…‰x…n˘…Æ˙*  

 Explain the differences between Receipts and Payments Account and 

Income and Expenditure Account from the viewpoint of accounting 

effect of the following transactions :  2 

 (i)  Opening cash balance, (ii) Closing cash balance, (iii) Received 

special donation, (iv) Opening creditors of stationery.  

13. BC∫…  ±… ®…]‰ıb˜ x…‰ 200 ∫…®…i…… +Δ∂… 100 Ø˚{…™…‰ |… i… +Δ∂… ¥……±…‰ EÚ… Ω˛Æ˙h…  EÚ™……,  V…x… {…Æ˙   

80 Ø˚{…™…‰ |… i… +Δ∂… ®……ΔM…… M…™…… l……* <x… +Δ∂……Â {…Æ˙ 20 Ø˚{…™…‰ |… i… +Δ∂… §…EÚ…™…… l…‰* EÚ®{…x…“ x…‰ 

<xΩÂ˛ 90 Ø˚{…™…‰ |… i… +Δ∂… {…⁄h…«n˘k… {…Æ˙ {…÷x…: x…M…« ®…i… EÚÆ˙  n˘™…‰* +Δ∂… Ω˛Æ˙h… J……i…… §…x……<B*  

 X Ltd. forfeited 200 equity shares of Rs. 100 each, on which Rs. 80 per 

share was called up. There was call in arrear of Rs. 20 each on these 

shares. Company reissued these shares at Rs. 90 per share as fully 

paid up. Prepare Share Forfeiture Account. 2 

14.  x…®x… {…Æ˙ ∫…Δ I…{i…  ]ı{{… h…™……ƒ  ±… J…B :  

 (i)  ∫¥…‰]ı <ŒC¥…]ı“ +Δ∂… 

 (ii) +Δ∂……Â EÚ… + v…-+ ¶…n˘…x…* 

 Write short notes on the following :  2 

 (i) Sweat Equity shares 

 (ii) Over-subscription of shares.  

15. ∂……‰v…x…“™… {…⁄¥……« v…EÚ…Æ˙ +Δ∂……Â EÚ… ∂……‰v…x… EÚÆ˙x…‰ EÚ“  ¥… v…™……ƒ §…i……<™…‰*  

 State the methods of Redemption of redeemable preference shares. 2 
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16.  x…®x… ±… J…i… ∫…⁄S…x……+…Â ∫…‰ n‰˘x…n˘…Æ˙…Â EÚ… J……i…… §…x……<B B¥…Δ n‰˘x…n˘…Æ˙…Â ∫…‰ |……{i… Æ˙…‰EÚc˜ Æ˙… ∂… Y……i… 

EÚ“ V…B : 

 n‰˘x…n˘…Æ˙…Â EÚ… |……Æ˙Œ®¶…EÚ ∂…‰π… 40,000 Ø˚{…™…‰ ¥… +Œxi…®… ∂…‰π… 50,000 Ø˚{…™…‰, x…EÚn˘  ¥…GÚ™… 

15,000 Ø˚{…™…‰, =v……Æ˙  ¥…GÚ™… 90,000 Ø˚{…™…‰, n‰˘x…n˘…Æ˙…Â EÚ…‰ §…^ı…  n˘™…… 2,000 Ø˚{…™…‰, b⁄˜§…i… 

@Ò˛h… 4,000 Ø˚{…™…‰, b⁄˜§…x… B¥…Δ ∫…Δ n˘Mv… @Ò˛h… Ω‰˛i…÷ +…™……‰V…x… 6,000 Ø˚{…™…‰, |……{™…  ¥…{…j… 

15,000 Ø˚{…™…‰, ±…‰x…n˘…Æ˙…Â EÚ…‰ |……{™…  §…±……Â EÚ… §…‰S……x… 3,000 Ø˚{…™…‰, n‰˘x…n˘…Æ˙…Â ∫…‰ n‰̆™… §™……V… 

2,000 Ø˚{…™…‰*   

 From the following information prepare Debtors account and calculate 
the amount of cash received from debtors : 

 Opening balance of Debtors Rs. 40,000 and Closing balance             
Rs. 50,000, Cash Sales Rs. 15,000, Credit Sales Rs. 90,000, Discount 
allowed to Debtors Rs. 2,000, Bad Debts Rs. 4,000, Provision for Bad 
and doubtful debts Rs. 6,000, Bills Receivable Rs. 15,000, Bills 
Receivable endorsed to creditors  Rs. 3,000, Interest due from Debtors 
Rs. 2,000. 3  

17. n˘…‰Ω˛Æ˙… ±…‰J……  ¥… v… B¥…Δ +{…⁄h…« ±…‰J……  ¥… v… ®…Â EÚ…‰<« UÙ: +xi…Æ˙  ±… J…B* 

 Write any six differences between Double entry system and Incomplete 
record system.  3 

18. Æ˙…V……  ±… ®…]‰ıb˜ +{…x…‰ 2,00,000 Ø˚{…™…‰ E‰Ú 10% ∂……‰v…x…“™… + v…®……x… +Δ∂……Â EÚ… 10% |…“ ®…™…®… 

{…Æ˙ ∂……‰v…x… EÚÆ˙x…‰ EÚ…  x…∂S…™… EÚÆ˙i…“ ΩĘ̈* <∫… Ω‰̨i…÷ EÚ®{…x…“ x…‰ |…i™…‰EÚ 10 Ø˚{…™…‰ ¥……±…‰         

9%  20,000 @Òh… {…j… 5% |…“ ®…™…®… {…Æ˙  x…M…« ®…i…  EÚB* ∫……®……x™… ∫…ΔS…™… J……i…‰ EÚ… V…®…… ∂…‰π… 

2,40,000 Ø˚{…™…‰ ΩË˛* EÚ®{…x…“ u˘…Æ˙… +…¥…∂™…EÚ |……¥…v……x… E‰Ú {…∂S……i… ∂……‰v…x…“™… + v…®……x… +Δ∂……Â 

EÚ… ∂……‰v…x… EÚÆ˙  n˘™…… M…™……* EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B*  

 Raja Limited decided to redeem 10% Redeemable Preference shares of 
Rs. 2,00,000 at a premium of 10%. For this the company issued 
20,000, 9% Debentures of Rs. 10 each at a premium of 5%. There is a 
credit balance of General Reserve Rs. 2,40,000. The company 
redeemed the Redeemable Preference shares after necessary 
provisions. Pass the necessary journal entries in the books of the 
company. 3 



 9  

 SS—30–2—Account. II .SS–559-II. [ Turn over 

19. +…‰®…  ±… ®…]‰ıb˜ u˘…Æ˙… 100 Ø˚{…™…‰ |… i… +Δ∂… ¥……±…‰ 4,000 +Δ∂……Â EÚ…  x…M…«®…x…  EÚ™…… M…™…… V……‰ <∫… 

|…EÚ…Æ˙ n‰˘™… l…‰ : 

 20 Ø˚{…™…‰ +…¥…‰n˘x… {…Æ˙ (V…⁄x… 1), 30 Ø˚{…™…‰ §…Δ]ıx… {…Æ˙ (+M…∫i… 1 ), 30 Ø˚{…™…‰ |…l…®… ®……ƒM… {…Æ˙ 

(+C]⁄ı§…Æ˙ 1) i…l…… 20 Ø˚{…™…‰ +Œxi…®… ®……ƒM… {…Æ˙ ( n˘∫…®§…Æ˙ 1)* ®…Ω˛…n‰˘¥… V……‰  400 +Δ∂……Â EÚ… 

v……Æ˙EÚ ΩË˛ x…‰ §…Δ]ıx… E‰Ú ∫……l… n˘…‰x……Â‰ ®……ƒM……Â EÚ… ¶…÷M…i……x… EÚÆ˙  n˘™……* EÚ®{…x…“ u˘…Æ˙… ∫……Æ˙h…“ "+' 

+{…x……<« V……i…“ ΩË˛* ®……ƒM… EÚ“ + O…®… |……{i… Æ˙… ∂… {…Æ˙ EÚ®{…x…“ u˘…Æ˙… n‰̆™… §™……V… EÚ“ M…h…x…… EÚ“ V…B 

B¥…Δ §™……V… EÚ“ V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B*  

 Om Limited issued 4,000 shares of Rs. 100 each payable as follows : 

 On application Rs. 20 (June 1), on allotment Rs. 30 (Aug. 1), on first 

call Rs. 30 (Oct. 1) and on final call Rs. 20 (Dec. 1). Mahadev who 

holds  400 shares, paid the both calls money with allotment. Company 

prescribed Table ‘A’. Calculate interest on calls in advance payable by 

the Company and give Journal entries of Interest. 3 

20.  EÚxΩ˛” UÙ: ®…n˘…Â E‰Ú x……®… n˘“ V…B V……‰ ±……M…i…  ¥…¥…Æ˙h… ®…Â ∫…Œ®®… ±…i… x…Ω˛”  EÚ™…‰ V……i…‰ ΩÈ˛*  

 Give the names of any six items which are not included in Cost 

Statement. 3 

21. <x]ıÆ˙x…‰]ı E‰Ú i…“x… ±……¶……Â EÚ…‰ ∫…®…Z……<B*  

 Describe the three advantages of Internet. 3 

22. BEÚ EÚ…Æ˙J……x…‰ ®…Â BEÚ ¥…∫i…÷ EÚ“ 10,000 <EÚ…<™……ƒ =i{…… n˘i… EÚ“ M…<»«  V…x…®…Â ∫…‰ 9,000 <EÚ…<™……ƒ 

20 Ø˚{…™…‰ |… i… <EÚ…<« E‰Ú  Ω˛∫……§… ∫…‰ §…‰S… n˘“ M…<»* ={…™……‰M… ®…Â +…x…‰ ¥……±…“ EÚSS…“ ∫……®…O…“ EÚ… 

®…⁄±™… 50,000 Ø˚{…™…‰ l……* |…i™…I… ®…V…n⁄˘Æ˙“ E‰Ú 30,000 Ø˚{…™…‰ EÚ… ¶…÷M…i……x…  EÚ™…… M…™……* 

EÚ…Æ˙J……x…… ={… Æ˙¥™…™… |…i™…I… ®…V…n⁄˘Æ˙“ EÚ… 100% ΩË˛* EÚ…™……«±…™… ={… Æ˙¥™…™… EÚ…Æ˙J……x…… ±……M…i… EÚ… 

20% ΩË˛‰*  ¥…GÚ™… ¥™…™… 2 Ø˚{…™…‰ |… i… §…‰S…“ M…<« <EÚ…<« ΩË˛* ∂…÷r˘ ±……¶… |…n˘Ã∂…i… EÚÆ˙i…‰ Ω÷˛B BEÚ 

±……M…i…  ¥…¥…Æ˙h… {…j… i…Ë™……Æ˙ EÚ“ V…B*  
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 In a factory 10,000 units of an article were produced, out of which 

9,000 units were sold @ Rs. 20 per unit. The value of Raw material 

consumed was Rs. 50,000. The Direct wages paid Rs. 30,000. The 

factory overheads are 100% of Direct wages. The office overheads are 

20% on Factory cost. Selling expenses are Rs. 2 per unit sold. Prepare 

a Cost Statement showing Net Profit. 6  

23. V…Ëb˜  ±… ®…]‰ıb˜ 10 Ø˚{…™…‰ ¥……±…‰ 20,000 ∫…®…i…… +Δ∂……Â EÚ“ + v…EfiÚi… {…⁄ƒV…“ ∫…‰ ∫l…… {…i… EÚ“ M…<« * 
10,000 ∫…®…i…… +Δ∂… V…x…i…… ®…Â |…∫i…… ¥…i…  EÚ™…‰ M…™…‰ +…ËÆ˙ V…x…i…… x…‰ E‰Ú¥…±… 8,000 +Δ∂……Â E‰Ú 
 ±…B + ¶…n˘…x…  EÚ™……* ™…‰ +Δ∂… 2·50 Ø˚{…™…‰ ¥……±…… S……Æ˙ ∫…®……x…  EÚ∂i……Â ®…Â n‰˘™… ΩË˛* 31 ®……S…«,  
2010 i…EÚ  x…®x… |…EÚ…Æ˙ ∫…‰ Æ˙… ∂…™……ƒ |……{i… Ω÷˛<» : 

 6,000 +Δ∂……Â {…Æ˙ ∫…®{…⁄h…« ®……ƒM…“ M…<« Æ˙… ∂… 
 1,800 +Δ∂……Â {…Æ˙ 7·50 Ø˚{…™…‰ |… i… +Δ∂… 
 100 +Δ∂……Â {…Æ˙ 5·00 Ø˚{…™…‰ |… i… +Δ∂… 
 100 +Δ∂……Â {…Æ˙ 2·50 Ø˚{…™…‰ |… i… +Δ∂… 
 ∫…ΔS……±…EÚ…Â x…‰ =x… +Δ∂……Â EÚ… Ω˛Æh… EÚÆ˙  ±…™……  V…x… {…Æ˙ 7·50 Ø˚{…™…‰ ∫…‰ EÚ®… v…x…Æ˙… ∂… S…÷EÚ…<« M…<« 

l…“* Ω˛Æ˙h…  EÚ™…‰ M…™…‰ +Δ∂……Â EÚ…‰Ú 9 Ø˚{…™…‰ |… i… +Δ∂… {…Æ˙ Æ˙…®… EÚ…‰ {…÷x…Ãx…M…« ®…i… EÚÆ˙  n˘™…‰ M…™…‰* 

EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

+l…¥…… 

 ±…I®…“  ±… ®…]‰ıb˜ EÚ“ {…÷∫i…EÚ…Â ∫…‰  x…®x… ∫…⁄S…x……Bƒ ={…±…§v… ΩÈ˛ : 
          Rs. 
10% Preference shares capital of Rs. 100 each 
Less – Calls in arrears at Rs. 20 per share paid up 
 
Securities Premium A/c. 
General Reserve 
Capital Reserve 
Cash at Bank 

1,00,000 
400 

99,600 
12,500 
40,000 
5,000 

2,00,000 

 ∫…ΔS……±…EÚ…Â x…‰ + v…®……x… +Δ∂……Â EÚ… ∂……‰v…x… 10% |…“ ®…™…®… {…Æ˙  EÚ™……* ∂……‰v…x… Ω‰˛i…÷ ={…±…§v… ∫……v…x……Â 

EÚ… + v…EÚi…®… |…™……‰M… EÚÆ˙i…‰ Ω÷˛B ∂…‰π… Æ˙… ∂… E‰Ú  ±…B 10 Ø˚{…™…‰ ¥……±…‰ ∫…®…i…… +Δ∂… V……Æ˙“  EÚ™…‰* 

EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B* 
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 Z Ltd. was formed with authorised capital of 20,000 equity shares of 

Rs. 10 each. 10,000 equity shares were offered to the public and only 

8,000 shares were subscribed for. These shares were payable in four 

equal instalments of Rs. 2·50 each. Up to 31st March, 2010 amount 

was received as follows : 

 On 6,000 shares the full amount called up  

 On 1,800 shares Rs. 7·50 per share 

 On 100 shares Rs. 5·00 per share 

 On 100 shares Rs. 2·50 per share. 

 The Directors forfeited the shares on which less than Rs. 7·50 has 

been paid. The forfeited shares were reissued to Ram at Rs. 9 per 

share. Pass necessary Journal entries in the books of company. 

OR 

 Following information are available from the books of Laxmi Limited : 

           Rs. 
10% Preference shares capital of Rs. 100 each 
Less – Calls in arrears at Rs. 20 per share paid up 
 
Securities Premium A/c. 
General Reserve 
Capital Reserve 
Cash at Bank 

1,00,000 
400 

99,600 
12,500 
40,000 
5,000 

2,00,000 
 

 The Directors redeemed the preference shares at a premium of 10%. 

For redeeming utilised the maximum available sources and issued 

equity shares of Rs. 10 for balance amount.  

 Give necessary Journal entries in the books of company. 6  
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24.  x…®x… ±… J…i…  ¥…¥…Æ˙h……Â ∫…‰ 31 ®……S…«, 2010 EÚ…‰ ∫…®……{i… Ω˛…‰x…‰ ¥……±…‰ ¥…π…« EÚ… +…™…-¥™…™… J……i…… 
i…l…… =∫…“  i… l… EÚ… Œ∫l… i…  ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B : 

Balance Sheet 

as on 31st March,2009 

Liabilities Amount 
Rs. 

Assets Amount 
Rs. 

Capital fund     20,000 
Add-Surplus      4,000 
Outstanding Rent 
Loan 
Subscription received 
in Advance 

 
24,000 

500 
3,500 

 
500 

28,500 

Sundry Assets 
Accrued subscriptions 
Cash in hand 

20,000 
300 

8,200 
 
 
 

28,500 

Receipts and Payments Account 

for the year ending on 31st March, 2010 

Receipts Amount 
Rs. 

Payments Amount 
Rs. 

To Balance b/f 
To subscription 
2008-09    Rs.       200 
2009-10    Rs.    3,000 
2010-11    Rs.       300 
To Entrance fees 
To Rent of Lockers 
To Income from 
     refreshment 

8,200 
 
 
 

3,500 
1,000 

900 
 

1,400 
15,000 

By Rent 
2008-2009  Rs. 500 
2009-2010  Rs. 1,500 
By Repairs and Rent 
By Interest 
By Furniture 
By Refreshment  
     expenses 
By Balance c/d 

 
 

2,000 
1,500 

500 
8,000 

 
800 

2,200 
15,000 

 +x™… ∫…⁄S…x……Bƒ 31 ®……S…«, 2010 EÚ…‰  x…®x… |…EÚ…Æ˙ l…‰ : 
 1. +n˘k…  EÚÆ˙…™…… 600 Ø˚{…™…‰ 
 2. ={……ÃV…i… S…xn˘… 1,000 Ø˚{…™…‰ 
 3.  ¥… ¥…v… ∫…®{… k…™……Â ®…Â ∫…‰ 1,000 Ø˚{…™…‰ +{…±…‰J…x… EÚÆ˙x…… ΩĘ̈ 
 4. |…¥…‰∂… ∂…÷±EÚ {…⁄ƒV…“EfiÚi… ®……x…… V……B* 

+l…¥…… 
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 BEÚ ∫…Δ∫l…… EÚ… 31  n˘∫…®§…Æ˙, 2010 EÚ…‰ ∫…®……{i… ¥…π…« EÚ… +…™… B¥…Δ ¥™…™… J……i…… i…l…… +x™… 
∫…⁄S…x……Bƒ  x…®x… |…EÚ…Æ˙ ΩĘ̀ : 

Income and Expenditure Account 
for the year ending 31st December, 2010 

 Expenditure Amount 
Rs. 

Income Amount 
Rs. 

To Salaries 
To Office expenses 
To Depreciation : 
10% on Books 
20% on Furniture 
To Surplus 

4,000 
3,000 

 
2,000 
1,000 
4,000 

14,000 

By Subscription 
By Interest @ 10%  
     per year on  
     Investment 

13,000 
 
 

1,000 
 
 

14,000 

31  n˘˜∫…®§…Æ˙, 2010 EÚ…‰ +n˘k… ¥…‰i…x… 300 Ø˚{…™…‰ i…l…… ={……ÃV…i… §™……V… 400 Ø˚{…™…‰ l…‰* 

 1 V…x…¥…Æ˙“, 2010 EÚ…‰ |……Æ˙Œ®¶…EÚ Æ˙…‰EÚc˜˜ ∂…‰π… 3,000 Ø˚{…™…‰ l…‰*  

 31  n˘∫…®§…Æ˙, 2010 EÚ…‰ ∫…®……{i… ¥…π…« EÚ… |……Œ{i…-¶…÷M…i……x… J……i…… §…x……<B i…l…… 1 V…x…¥…Æ˙“,   
2010 EÚ…‰ {…⁄ƒV…“ EÚ…‰π… Y……i… EÚ“ V…B* 

 From the following statements, prepare Income and Expenditure 

Account for the year ending at 31st March, 2010 and also prepare 

Balance Sheet for the same date. 

Balance Sheet 

as on 31st March, 2009 

Liabilities Amount 
Rs. 

Assets Amount 
Rs. 

Capital fund     20,000 
Add-Surplus      4,000 
Outstanding Rent 
Loan 
Subscription received 
in Advance 

 
24,000 

500 
3,500 

 
500 

28,500 

Sundry Assets 
Accrued subscriptions 
Cash in hand 

20,000 
300 

8,200 
 
 
 

28,500 
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Receipts and Payments Account 
for the year ending on 31st March, 2010 

Receipts Amount 
Rs. 

Payments Amount 
Rs. 

To Balance b/f 
To subscription 
2008-09   Rs.       200 
2009-10   Rs.    3,000 
2010-11   Rs.       300 
To Entrance fees 
To Rent of Lockers 
To Income from 
     refreshment 

8,200 
 
 
 

3,500 
1,000 

900 
 

1,400 
15,000 

By Rent 
2008-2009  Rs.     500 
2009-2010  Rs.  1,500 
By Repairs and Rent 
By Interest 
By Furniture 
By Refreshment  
     expenses 
By Balance c/d 

 
 

2,000 
1,500 

500 
8,000 

 
800 

2,200 
15,000 

 Other information on 31st March, 2010 are as follows : 

 1. Outstanding Rent Rs. 600 
 2. Accrued Subscription Rs. 1,000 
 3. Write off Rs. 1,000 from Sundry Assets 
 4. Entrance fees to be capitalised. 

OR 

 Income and Expenditure Account and other information of an 
institution for the year ending 31st December, 2010 are as follows : 

Income and Expenditure Account 
for the year ending 31st December, 2010 

Expenditure Amount 
Rs. 

Income Amount 
Rs. 

To Salaries 

To Office expenses 

To Depreciation : 

10% on Books 

20% on Furniture 

To Surplus 

4,000 

3,000 

 

2,000 

1,000 

4,000 

14,000 

By Subscription 

By Interest @ 10%  

     per year on  

     Investment 

13,000 

 

 

1,000 

 

 

14,000 
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 On 31st December, 2010, Outstanding salaries Rs. 300 and Accrued 

interest were Rs. 400. 

 On 1st January, 2010, Opening Cash Balance was Rs. 3,000. 

 Prepare Receipts and Payment Account for the year ending 31st 

December, 2010 and calculate Capital Fund on 1st January, 2010.  

   6 

    


